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QUESTION 1

The administrator has a master server running over 50,000 jobs per day.
What can the administrator do to reduce the load on the master server?

A. replicate the backups to another master server domain

B. configure a new master server to distribute the backup load

C. add additional media servers to the environment

D. configure client-side deduplication and load balancing media servers

Correct Answer: C

QUESTION 2

What is the purpose of the Logon and Password settings in the Disaster Recovery tab of a NetBackup catalog backup
policy?

A. to specify credentials required to access a network share
B. to encrypt the NetBackup catalog backup data

C. to require credentials to perform a catalog recovery

D. to encrypt the disaster recovery file

Correct Answer: A

QUESTION 3

Using the default values in the activity monitor, a failed job is discovered among hundreds of jobs that ran during the
evening. The administrator would like to view all related jobs to verify they completed successfully.

Where in the activity monitor can the administrator find all related parent and child jobs?
A. right-click the failed job and select Sort, and sort by Job PID

B. double-click the failed job and select the Detailed Status tab

C. right-click the failed job and select View Job Hierarchy

D. right-click the failed job and select Troubleshooter

Correct Answer: C

QUESTION 4
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After creating a NBU-Catalog type backup policy, an administrator receives the following message:

DR file is on the same partition as your catalog and will be unusable in an actual disaster or disk failure.
Which two options are available to an administrator to ensure the DR file is available for future use?
(Select two.)

A. ensure the folder DR file is on a non-root volume

B. ensure the DR file is created on a volume other than the NetBackup volume

C. ensure the NetBackup catalog is on a non-root volume

D. configure a valid email address of the administrator in the Send email option

E. configure Auto Image Replication to send the DR file to a remote master server

Correct Answer: BD

QUESTION 5
Refer to the exhibit.

A backup policy uses a Full Backup schedule with a schedule type of Frequency: 1 days. The start window for the
schedule is configured as shown in the exhibit:

L
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The administrator runs a manual backup at 10:00 on Thursday.

When would the next backup run, if all prior backups completed successfully?
A. Friday at 2:00

B. Friday at 10:00

C. Monday at 2:00

D. Monday at 10:00

Correct Answer: A
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QUESTION 6

An administrator has a job that has failed. Upon reviewing the Detailed Status tab for the job, the administrator sees the
following information:

05/23/2016 03:58:45- Info nbjm (pid=84600) starting backup job (jobid=74455) for client
CLIENT-01, policy POLICY-01, schedule Full

05/23/2016 03:58:45- Info nbym (pid=84600) requesting STANDARD RESOURCE resources
from RB for backup job (jobid=74455. request id: {CFBEIG6EE-2163-11E6-8982-
ABO03COTTAT60})

05/23/2016 03:58:45 — requesting resource MEDIA-SERVER-01

05/23/2016 03:58:45 — requesting resource MASTER-01.NBU_CLIENT.MAXJOBS.CLIENT-01
05/23/2016 03:58:45 — requesting resource MASTER-01.NBU_POLICY MAXJOBS.POLICY-
01

05/23/2016 03:58:45- Info nbrb (pid=84544) Limit has been reached for the logical resource
MASTER-01.NBU _POLICY MAXJOBS.POLICY-01

client backup was not attempted because backup window closed (196)

Which setting value prevented the job from running during the backup window?
A. the Global Attributes > Maximum jobs per client master server host property
B. the Timeouts > Client read timeout master server host property

C. the Maximum concurrent jobs storage unit setting

D. the Limit jobs per policy policy setting

Correct Answer: A

QUESTION 7

Upon arriving at work on a Monday, an administrator sees several replication jobs that have failed with the
following error message:

no images were successfully processed

Which two reasons may be the cause for the error code? (Select two.)

A. The checkpoint restart is disabled for the replication jobs.

B. There are network connectivity issues between the source and target domains.

C. The NetBackup host ID-based certificate was revoked.

D. There is insufficient storage space on the target storage server.

E. There are insufficient tapes in the replication volume pool.

Correct Answer: AB
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QUESTION 8

In which scenario is Use Accelerator unavailable in a backup policy?
A. for VMware virtual machines with a Linux guest OS

B. for virtual machines hosted on a Hyper-V Host using WMI

C. for a NetApp NDMP filer

D. for an Exchange database availability group (DAG)

Correct Answer: C

QUESTION 9
Refer to the exhibit.

What is the outcome of the policy shown in the exhibit?

Go into effect at:
[ ] Backup network drives

_Mar 30, 2017 4.05:47 Pl

[_] Cross mount points

Compress

Encrypt

Collect disaster recoverny information for
[] Bare Metal Restore

[ _] Collect true image restore information

[] with move detection

[_| Allow multiple data streams

[ | Disable client-side deduplication
|| Enable granular recovery

[ ] Use Accelerator

[ ] Enable optimized backup of Windows deduplicated volumes

Keyword phrase (optional): |

A. The client encrypts then compresses the data before sending it to the media server.

B. The client compresses and the media server encrypts the data before sending it to the tape drive.

C. The client compresses then encrypts the data before sending it to the media server.
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D. The client sends the data to the media server, which compresses and then encrypts the data.

Correct Answer: C

QUESTION 10

A NetBackup policy is configured to back up the following paths for a client:

D:\stage E:\data E:\nome F:\production

Multi-streaming is enabled for the backups, and multiplexing is set to 4. Backup streams are running slowly.
Which step should the administrator consider to improve backup performance?

A. increase the multiplexing level

B. back up only one stream from each physical device on the client

C. disable multistreaming

D. increase the number of data buffers

Correct Answer: B

QUESTION 11

An administrator has a scheduled policy that backs up 20 clients, each with multiple mount points and multiple data
streams enabled. One of the jobs has failed and is in an Incomplete state in the Activity Monitor.

How should the administrator verify the incomplete job runs prior to the next scheduled backup?
A. run a manual job for the client

B. resume the job

C. run a manual job for the mount point

D. resume the parent job

Correct Answer: B

QUESTION 12

Which two performance scenarios benefit from seeding the MSDP pool? (Select two.)
A. new client backups over WAN

B. new application backups over SAN

C. new VADP VMWare backups using media server as the backup host
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D. new replication to a new DR site
E. new clients with large file systems containing small files

Correct Answer: AD

QUESTION 13

An administrator wishes to modify the Override default job priority option for an MS-Windows type restore job before the
restore job begins.

Where in the Microsoft Windows Backup, Archive, and Restore console can the administrator configure this option?
A. after clicking the Restore button, in the Restore Marked Files dialog box

B. at the bottom of the options listed in File> NetBackup Client Properties> Network

C. in the Backup, Archive, and Restore window, under the Restore Files tab

D. within File> Specify NetBackup Machines and Policy Type

Correct Answer: A

QUESTION 14
Refer to the exhibit.

Which diagram is supported for backups spanning BasicDisk storage?
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Correct Answer: C

QUESTION 15

Which schedule can be configured as a synthetic backup in addition to the full backup schedule type?
A. Differential incremental backup

B. Cumulative incremental backup

C. User backup

D. Automatic backup

Correct Answer: B
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